
Mounting instructions
Loop Arc	    # 137 

Updated: 06.11.2012



out-sider a/s
Kigkurren 8A, 2300 Copenhagen S, Denmark
www.out-sider.dk

Filled with water Filled with sand

Loop Arc (26 kg)
+ 225 liter water 

~ 251 kg

Loop Arc (26 kg)
+ 225 kg sand 

~ 251 kg



out-sider a/s
Kigkurren 8A, 2300 Copenhagen S, Denmark
www.out-sider.dk

1) Sand 2) Sand pot

4) Hose, max Ø50mm

3) Compressor

SAND BLASTING PLASTIC PRODUCTS

MAY 2014out-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 København S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

SAND BLASTING
PLASTIC PRODUCTS

If you wish to hire a company to do the job, seek suppliers 
called sand blaster.

If you want to do the job yourself, equipment can be rented 
by companies supplying the construction industry. Search 
for sand blastning equipment.

 
Equipment that will be used to fill in the sand:

 1) Sand, easiest with fine blowing sand
      0.3-1.0mm, oven dried
 2) Sand pot
 3) Compressor
 4) Hose, max Ø50mm

 *It is recommended to consult professionals as
 well as instruction manuals on the equipment 
 before it is used.

Filling hole Ø50mm



out-sider a/s
Kigkurren 8A, 2300 Copenhagen S, Denmark
www.out-sider.dk

Each bracket is mounted onto the bottom 
of Loop Arc with supplied M10x16 unbrako 
bolts.

Each bracket is mounted onto the bottom 
of Loop Arc with supplied M10x16 unbrako 
bolts.

B1 bracket for ground fixation B2 long bracket for ground fixation

ø14mm

450mm

129mm

129mm

100mm

250mm

250mm

50mm

80mm

ø12mm

Bracket B1 Bracket B2

Bracket B1 Bracket B2

ø14mmø12mm

M10

M10



out-sider a/s
Kigkurren 8A, 2300 Copenhagen S, Denmark
www.out-sider.dk

Each bracket is mounted onto the bottom 
of Loop Arc with supplied M10x16 unbrako 
bolts.

B3 bracket for surface fixation Rubber block

Each rubber foot is mounted with 2 
screws.
Loop Arc is mounted with 3 rubber feets 
in total.
NOTICE! Do not attach the rubber feet 
with screws if Loop Arc is to filled with 
water. In that case just place the rubber 
feet loosely under the Loop Arc.

ø14mm

250mm

50mm

100mm
8mm

ø12mm

Bracket B3

Bracket B3
M10



out-sider a/s
Kigkurren 8A, 2300 Copenhagen S, Denmark
www.out-sider.dk

The assembly bracket function as a spacer between the ends 
of two Loop Arcs. The bracket is adjustable (0-50mm).

Each bracket is mounted onto the bottom of each loop Arc 
with the supplied M10x16 bolts. 

Cleaning instructions

The material polyethylene withstands almost all detergents.

Polyethylene requires no maintenance.

The dyed polyethylene preserves the colour - minimal fading by the sun 
is to be expected.

Pressure washers can be used with advantage to clean the product. 
This service is often offered by companies that remove graffiti.

After cleaning, use vinyl polish (same as used for car interior) to make 
the product shine.

220mm

80mm

ø12mm

Assembly bracket B4

M10

Slip resistant Surfaces

The products have a textured/granulated surface due to abrasive blast-
ing of the mold. 
This process increases the friction, resulting in a less slippery surface.


